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XREEE VU ¢ 350 m | 284.00 284.00
EWMHRLT |EBLT HAEAIT BH0.28m3 m3 535.79 535.79
BRA fFEHTE L BH0.28m3 m3 159.83 159.83
BRA HEOLE/0I=1ERLLHELTE UF) |BHO.28m3 m3 17759
#BREB MEHNLIE HRL BH0.28m3 m3 221.47 221.47
#RB #HEHLE/NI=EBRLLELE HRL [BHO.28m3 m3 246.08
%t (EHIE—1#RB ERLLELTE HRL) [DT4t(BH0.28) m3 289.71
EWMHT TAKERBHBLEZLE VU ¢ 350 m3 280.40 280.40
TUR—IVRARESH#EF VU ¢ 350 #8 8 8
ERRI—F VU ¢ 350 m 280.40 280.40
BEBET AR WEOLE LB m3 27.54 27.54
BER #EOLE/0-EHRILLELE LF m3 30.60 30.60
EHRIET OAHB ST BERBRET HEHIR2.0mEL T m 150.00 150.00
fEEIR25mUT m
FEEIR3 oMU T m 59.00 59.00
HEHIR3SMELT m
CAHB ST BEMEN HEHR20mEL T m2 60.00 60.00
HEHIR3OmLLT m2 90.00 90.00
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FEUG00 ARy 1 855% B L FABHF #H 1 1
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YL 5cm @ 1 1
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TERR 12cm @ 2 2
B2 (EMTEED) 30cm 1@
" 60cm &
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" 120cm & 1 1
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EhR 9cm & 2 2
TUR—ILHIFL VU ¢ 350 Gl 2 2
&0 Bt AsAE/ T VU ¢ 350 Gl 4 4
RUR—ILRE2mEUT Gl 1 1
TR —)LRE2miE ~3mLL T Gl
TR —)LRE3miE ~4mLL T Gl 1 1
EHEA N~k Gl 2 2
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L3 EE L3 EE 1% s 1% EE =) =) =)
L (RE) REIB
THERET |HERTIET As 15cmEAF m 885.80 568.00 317.80
EKERNET =% 1 V=0.023 x 0.05 X 568.00+0.023 x 0.05 X 317.80=1.02
SRR (EEEHITGD) As 10cmELTF m2 | 1328.96 301.00 1027.96
TAI7 b E m3 66.47 15.07 51.40
TAI7ILbERALSY 2.35t/m3 t 156.20 35.41 120.79
HHEEIET | TERET ARC-40 20cm m2 | 301.00 301.00
R BAZGE | EFEEEE T M-40 12cm m2 | 301.00 301.00
RHN4  [{RERBL QOHHIEAS(20) 5cm m2 | 301.00 301.00
{E%E1£75% | FREEEIE IR m2 | 1198.26 1198.26
RET QFEHEAS(H20FH) 5cm m2 | 1198.26 1198.26
RE#RT |B#R: PR KR 15cm m 81.00 81.00
BIR: SMAIER - SRAR 15¢m m 307.40 307.40
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XREET [REFEEREB AR 85.5 85.5
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R (IR’ DE (1) t 9.20 9.20
ERE | R OER (B t 9.20 9.20
REEM FEDTEAAHEEILE () t 9.20 9.20
REEMFEDTEAAHIEILE (E) t 9.20 9.20
#HE
SET  |EEIGx1.0) T 2 2
BRIBRMIEMER
REREE (RibEE E3: ] 1 1
REFAE - REEPA00m2LL £ ~450m2K ® 1 1
RERAE - REEWCTOM2LLE ~130m2KH ® 1 1
Bt EEE
HEE |TVHASHRET m 280.40 280.40




